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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

EXERCISE 24 [Pg. No.: 1057]

1. Find (a'xf;) and|d><5|, when
() d=i—j+2k and b=2i +3} 4k (i) @=2i+j+3k and b =37 +5)—2k
(iii)d=i-7j+7k and b =3i —2] +2k (ivi@=4i+ j—2k and b =3 +k
(v) @=3i+4] and b =i + j+k

Sol. (i) Let d =(?—}+ 21?) and b =(27 +3}—41?)

it T J 2t | -1
(axb):l =1 2|=i | +k
3 4 3 -4 2 4 2 3

P +(8) +(5) =Va+64+25=+/93

(ii) Let « (2.-+ 3k) and b = (37 +5] -2k

« 14 £ 1 Bl &L\9| &
(a’xb)=2 T o ' +k
5 & 8

s <
=i(-2-15)- j(-4-9)+k(10-3) =(-17/+13]+7k)

=> |ax| = J(~17) +(13)” +(7) =289 +169+49 =307 =13y/3

i ok
(iii) Let @= (7 ~7]+7k) and b = (3[—2_}+2/€) (axE)—_il = 7:?3 ;‘—}I; ;h‘;i :;l
3 <2 2

=i(~14+14)- j(2=21)+ k(-2 +21)=(19]+ 19

= [axB|=4/(19)+(19)" =419° (1+1) =192
& . . ﬁ;.}’; .1—2.4—2~4¢P0(,}\'0
(iv) Let a-—-(4r+;—2k) andb=(3;+k), (axb)=€31 (1) -2 =i, 1’—;3 1 +1% &(b

\
= 7(1-0)- j(4+6)+k(0-3) =(i-10]j-3k) %\(b cb_
= |¢5.=><15|=J(1)2+(—10)3 +(-3)" =1+100+9 =110 O KQ
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i ]k
ooty 0 L 1
: % 4

=i(4-0)-j(3-0)+k(3-4) =(4i -3j-k)
= Jixb|=(4) +(-3) +(-1) =V16+9+1=+26

Find & if (2?+6}+14§)x(:’—1}+7£)=6

[2i+6}+14k]x(i+ lj+7k]=6

k

E 0 .
S 14]* 1 s 2 A e
=l 6 1 =0=>|6 4Ii-‘2 ‘H ﬁlkzd
7 71" ¥k -
4 2 7

= (42-98)i(7—14) i+ (2L ~6)k = 0 = ~561+7j=2(A+3)k =0 = 2(a +3) =G=>A= 3 Ans.
If G=(-3i+4j-7k) and h=(6i+2j-3k), find (axb)
Verify that (i) @ and (&x-g) are perpendicular to each other

And (ii) » and (5 x5) are perpendicular to each other

n A

E=(65+2j-3kJ

i kl
axb=I=3 4 -7

B 2 —3]
4 -7 |3 -7 |2 4 ) .
= i- J+ K=(-12+14)i-(9+42)j+(-6-24)k =2i—51j- 30k
I D & D T IR R e
Find the value of

@) (xj)k+i-] (ii) (Exj]-h}-f iii)f‘><(j+£)+}x(£+§)+§-x(?+})

o) (. }}.QJ,E.} —kokt i =1+0=1 o
(i) [Qx})-;+}-|‘;——;-;+}-&: 140=-1 60 C}'
(i) ;x(}+|:}+}x{|;+ ?]+ﬁx[?+}J

:(:x;)+(:x;)+(;x;]+(;X;)+[ax;}+(;x;]=;+(_;]+;+(_;)+;+(_;]=o(\q, &Q‘b
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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

Sol.

Find the unit vectors perpendicular to both dand 5, when
(i) a=3+j—2k and b=2i+3j—k (i) d=i—2j+3k and b=7+2j—k

(iii)d =7 +3] 2k and b =—i +3k (v)a=4i +2j -k and b =i +4]—k

(i) Let a=(3f+j—212) and 5:(2f+3}—£)

-

i ] k
(@xb)=[3 1 -2=:’\
8 3 i

1
- +k
y 2 3'

1 2| 3 2| .3
3 =1 BB -9

=i(-1+6)-j(-3+4)+k(9-2)=(5i - j + 7k)

= |dxB|=(5) +(-1) +(7) =v25+1= 49 =75 = 1543

(axB) (si-j+7k)

Hence, the required unit vector = — = =t 5i— =Tk
| laxs] 4543 sﬁ( J=7)
(ii)Le:&:(F—z}+3“) and b=(i+2j )
A
= =i 7_2 3 11 3 ﬂl —2
(@xB)=p -2 3|=i -5 <k
2 " 7 | i -1l

2 =1

=i (2-6)— j(-1-3)+k(2+2)=(-4i+4] +4k)

= |ixb|= J@Y (8 +(4) =243

u ) _ _ h(&xl;) _4(wf+}+};)_(ﬁ5+j+k“)
ence the required unit vector = |a' xf;i = P = 5

(iii) @ = (7 +3]—2k) and b =(~7 +3k)

i J ok
3 B2 1 9 &1 3
(@xb)=[1 3 —2::| =3 |+k| ‘
o 3| /.1 3] o

Er & 3

=7(9-0)- j(3-2)+k(0+3) = (9 - j+3k)
= ixb|=(9) +(-1)’ + 3V =+B1+159 = +401

Hence, the required unit vector = (lz i ;|) = (Qi ;jgil:;k) @60 Ci\\o

(iv)LetEi:(4f+2}'—I;) and I;:(f+4j—i;) &6 Q
i 0

2 - a4 -1 a2 %

|4 -1‘ 1}1 " 4'

3 ‘\’\\O @(b

=R~

P
(ax5)=4
1
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=i(-2+4)-j(-4+1)+k(16-2) =(z§+3}+14£)

= |axB|=(2)° +(3) +(14)° =A+9+196 = 4209

(dxb) (2f+3j+14:2)
Hence, the required unit vector = — =
x| +4/209

6.  Find the unit vectors perpendicular to the plane of the vectors @ =2/ —6 ] — 3k and b =4i + 3j— 2k.

Sol. Let d=(27-6j-3k), b=(4i+3j-k)
if ﬂ
4 3

=i (6+9)- j(-2+12)+k (624} =115/ ~10] +30k)

i = +
3 -1 "4 =1

L% _3l ,\_‘2 -3

= fax|= (15 ~(10) ~(30)" =225 +T00900 = Ji22% =35

Hence, the required unit vector = (‘i’x b) _ 5(3;‘ -2 +6k)
t&xb| 35

= (3:"-2}+6£}

~ | -

7. Find a vector of magnitude 6 which is perpendicular to both the vectors a@=4i —}+3§ and
b = 28452k
Sol. Let =(4?-}+3£) and 5:(—2;’+j—2§)

=7(2-3)- j(-83+6)+k(4-2) =(—f+2}+2£)
=3 |ax5[=\f(—1)" +(2) +(2) =ViTa+a=10=3

(axb) _(~f+2}+2}?)

So, a unit vector | toboth ¢&5 =

laxa| 3
The required unit vector = M = #2l-i+2]+2k)
8. Find a vector of magnitude 5 units, perpendicular to each of (@ +4) and (d~5), where 60 ,‘\\06
G=(7+j+k) and B =(7 +2)+3), Q" L

Sol. Lft aﬂ:(ft}ré)hand?ﬁ=E§+{j+3£{ - \’(b&% Q
(a+b)_(f+1+k)+(: +2_;+3k)-(21+3j+4k) %
(-8)= (3 + 7 +)~(7 +27+38) =(-7-24) NN
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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

Sol.

10.

Sol.

11.

Sol.

i j k
e N P A3 4| 42 4] A2 3
(a-i—b)x(a—b): z _31 jz ::l_l _2|-j i _2‘+k|0 —1|

=i (~6+4)— j(-4-0)+k(-2-0) =(-2i +4] —2k) =2(~i +2]j k)
= |(“"” | \/( 2)" +(4)" +(-2)" =Va+16+4 =24 =26
[(axB)<(a-5)]
a+8)«(a-)

. (f+21k)5«_~5J€fA.A
The required vector — | ﬁ ~ +2;—k)=T(—: +2]—k)

So, a unit vector L toboth G&b =

Find the angle between two vectors @ and 5 with magniwdes 1 and 2 respectively and | axb | =

Let, 6 = Angle between ; and E;
Given:- |a|=1,|b|=2 and | axb =3

We have, |;><E;]——-i;| |g|-sin9:> V3 =12 x sinf=>sin 0 =

N3,
2

x
6=— Ans.
3 ns

Let a~(r - ) =(3Jr k) and ¢ =(7f—£). Find a vector ¢ such that it is perpendicular to both d
and b, and ¢.d =1
Let a =alf+a:}+a3§
dla,da=0 ::»(qf+a2}+a5!t\')(f~}')=0
= a-a&=0 ..(1)

, @b=0 =(ai+aj+ak)(3j-k)=0

0
oy

1
=>3a,—a, =0 ssakiE)

d.é=1 :>(aif+a2}+a3i;)(75—1;) =1

= —a =1 ..(ii)

Solving equation (i) and (ii) we get 3a, —a, =0 A{iv)

Again solving equation (iii] & (iv) we get @, =§

From equation (i), @, —a, =0 or a,=a, =— @

1
: @)
1 ’ 3 s {w. T 60 ’\\

From equation (ii), 3a, —a, =0 :>3.Z':a3 =T :I. Hence d Ii;+4j+ —k.

3

If a= (4?+5}—£),5 :(f—4_}+5!§), and E=(3f+}—i:') find a vector d which 1*#;)(&11&&

both @ and » and for which ¢-d =21 6\'

’b

Given:- a 4|+5] k

s A

b=i—4}+5k @\\\\

N
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A A A

and ¢ = 3i+ j-k
-dlaandb
:$a||[;x 6] adzk[;x SJ (Let)

A A A

O (N B o _ah i
—d=kl4 5 -1[=d=k{|> ;H : 1,‘+F1 5lk
b -4 1 5 -

— d=k{(25-4) i —(20+1) ] + (~16-15)k} = d =21k i 21K | - 21k k}
Now, c-d=21
= (3i+ j-K)-(21ki- 21K j- 21kK) =21 =63k — 21k + 21k = 21=> 63 k=21 =k= %

g:21x%i—21x%j-21x%k =3=l7§-7j—7k] Ans.

Prove that |c? x5| =(ﬁ-5)tan9, where @ is the angle between @ and b.
LHS |ax5{ = |d||5|sin6‘ o)

d.

We know tha Ei.5=|£i||5lcos€ = |c‘z'||5|= . 7

b sinf = |&'x5|=(&5)tan9

From equation (i), |&’x5| = a.b.
cos

Write the value of p for which a = (5? +27] +9I;) and b= (f +p)+ 31:7‘) are parallel vectors

ol

ok
wa

L
=axb=

= 0.

0

ik
=5 2 9|=0

p 3

=

‘2 9‘¢ ‘3 9|~, ’3 2|,, .
i— Jj+ k=0

23 s 1 P

N
LN
@)

= (6-9P)i—(9-9)j+(3P-2)k =0 = 3(2-3P)i+(3P-2)k =0 =2-3P=0 and 3P-2=0 60

:>P=§Ans‘ 6@ &®
Verify that &x(!; +é):(&xb)+(c’ixr’5), when (& Q
() d=i—j-3kb=4i-3j+k and ¢=2i — j+2k 6\' %‘

() G=di -4k =i+ j+Rand 5=i— 4k A&
(i)ﬁ:(f—}—3§),5=(4§—3}+£)&6:(2:‘—}42/2) \\\ @(b
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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

= (b+¢)=(4-3]+k)+(27 - j+2k) = (6 - 4j+3k)

i j Kk
. = <F| J¥ ~8] A1 -4
LHS={ax(b+é)l=|1 -1 -3 —!I ‘ j‘ ‘+kl ‘
{ } i 4 3|76 3| |6 4

=i(-3-12)-j(3+18)+k(-4+6) = (151 -21]+2k)

RHS = (dxB)+(dxé) :{(f-}-3£)x(4f-3}+E)}+{(f-}-3E)x(2.?-}+2£)}

Py k|| ok
=1 -1 3|+{1 -1 -3
4 -3 1112 -1 2
=1 =8| 4|1 =3| A =] =1 <3| gl 3] 2|1 =1
=<i —j +k pH3i —ij +k
-3 1 4 1 4 -3 -1 2 2 2 2 -

={i(-1=9) - j(1+12) + k(-3 +a)}+{i (-2=3) - j(2+6) +k(-1%2)}
:(—10?—13}+1€)+(-5§—8}+é) :(—15.?—21}+2£)

Hence. d x (b +¢)=(axb)+(dxc)

(i) a=(4i—j+k), b=(7+j+k) & c=(i- j+k)

= (5+-E:')=(f+}+!§) (?—}+J§)—(2§+2/§]

-

e 3 el A

=i(-i-1)-j(4-1)+k(4+1)= (27 -3] +5k)

| ~1’

i gk
o 11 J4 1] Sa -
= (axé)=|4 -1 1|=i S 1+kl y
I =1 1

=i(=141)= j(4-1)+k(-4+1)=(-3] - 3k)

"~_;}£?-11-,‘4;~4-z]
L.HAS=ax(b+c)=4 -1 l=r|0 2'-—j2 2| 2 0
4 0 & <O
:f(-2-0)-}(3—2)+£(0+2):(—2}"—6}+212) 60 ’\\F)
RHS=(ax5)+(&x5):(—25‘—3}+5£)+(—3}—3£)=(—2§‘—6}'+2/’E) < @O
. | % o%

ix(b+¢)=(axb)+(axc &
S 3]} N
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Find the area of the parallelogram whose adjacent sides are represented by the vectors
() G=71+2j+3k and 6=-37 —2j+k (ii) a=(3f+}+4i£) and & =(§—}+1§)

-

(iii)ya=2i+j+3k and b=i— j (iv)d=2i and b=3)

Sol. (i) Letd=i+2j+3k and b=-3i —2j+k

-1 3| 351 2

2 3
-3 1 -3 -2

i J Kk

axb=l1 2 3|=i
2 1
-5 49 1

=i(2+6)-j(1+9)+k(-2+6) =87 -10]+4k
Required area :lﬁ xfi[ :J(S)? +(—IO)2 +(4)* =4/64+100+16 =~/180 =6v/5 sq. units.

(ii) Let d = (3f+j+4£)and b=(7-j+k)

i J
(axs)z 3 1

k
4|=i
1 11

1 4] &
-1 1

=7 (1+4)- j(3-4)+k(-3-1) = (57 + j-4k)

Required area = | x 5 = \/(S)2 +(l)2 +(~4)2 =25+1+16 =+/42 sq units.

(iii) Let a.:(zf+}'+312), b=(i-J)

/ d2 3| H2 1
1 —j +k I

¥ 3

-1 0

i
=i

I 10 ]
0

-1

=3(0+3)-j(0-3)+(-2-1)=(37 +3] - 3k)

Required area = Iﬁ x 5' = J(?;)Z +(3)° +(-3)" = J32 (l2 +1P+ 13) =343 sq. units

(iv)Let =27, b=3)

A } 4 0 0 2 B Z B
(@x8)=f2 0 o :fl By ’H&“ |=6i§
| 3 0l “lo ol o 3
|0 3 0 '
Required area =|&x5| =J(_6)2 =6 sq. units. @
16. Find the area of the parallelogram whose diagunals are represented by the vectors 60 ,’\\F)
() d,=3+j—2kand d, =7 3] +4k (i) d, =2 —j+kand d, =37 +4j—k % <O

(iii)d, =7 -3j+2k and d, = +2] K@ Q
Sol. (i) Let d, =(3§+}—2§), d, =(f—3}+4£) 6{0 %_
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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

-

44;}!‘A1—2~3—2~31
(dxd,)=[3 1 -2|=i x &1t 41
1 =3 4

=i(4-6)-j(12+2)+k(-9-1)=(-27 -14]-10k)
= d x<d,| =yl(-2) +(-14)’ +(~10)’ =VA+196+100 =300 = 10¥3

. Required area = %laﬁfl xJ2| =-‘1:3-><10J§ =543 sq. units

(i) Let d, = (27 - j+£), d, = (3i+4j k)

N L =t T g2 3] &2 -1
(dxd,)=|2 -1 1 =z‘l4 P 2 I
(i

=i(1-4)—j(-2-3)+k(8+3) :(-3f+5}'+1 k)

= Ic?,xc?z|=\ﬁ—3)2+(s)3+(1 1)’ =Jo+25+121=4/155

. Required area =-;—|J, x33|=%\/1§ sq. units
(iii) Let d, :(f -3j+2k), d,=(-i+2])
Pj ok

(dxd)=[1 =3 2[=i
-1 2 0

R 5
A_~oh -1 2

3 2| \KD" 2
2 0

:f(n—4)—j‘(0+2)+£(2~3)=(—4f—2}‘—;€)

= .| =yf(~4) +(-2)' (1) =Vl6+a+1=421

. Required area =-;—|3, xc?zl :%JZ_I sq. units.

Find the area of the triangle whose two adjacent sides are determined by the vectors

7.
(i) d=3/+4j and b= 5i+7;

() a=-2i=5k and b=i-2j—k
Sol. (i) Let d:(-szsiy 5—(;‘“-2}'-1?)
i k

+k

S
[ R Y

dpo 5| 55 B
Y -2

2 9
Ny 4

=i(0-10)-j(2+5)+(4-0)=(~10/~7] +4) S
KN

= |ixb|=/(-10) +(=7)" +(4)° =100+ 49+16 =/I65 N
. Required area =%|&x5|=%JlE sq. units. Q% &Q

(ii) Let d = (37 +4]). b =(-5i +7]) \&\


http://cbs.wondershare.com/go.php?pid=5239&m=db

mm Wondershare
PDFelement

Remove Watermark g

https://millionstar.godaddysites.com/

i 9.
7 o |- o

40‘ ._|3 0

oo [ O
+k‘ |

= i

o o =

=k(21+20) =41k =>|axb|=q/(41)" =41

. 1j. = 1 41 ;
. Required area =—|dxbh|=—x41=— sqg. units.
< 2| | 2 2 .

18. Using vectors, find the area of AABC whose vertices are
(i) 4(1,1,2),B(2,3,5) and C(15,5) (i) 4(1,2,3). B(2,-1,4) and C(4,5,-1)

(iii) 4(3,-12),B(1,-1,-3),C(4,-3,1) (iv) A(L=12).B(21-1) and C(3,-1,2)
Sol. (i) Given vertices are A(1, 1, 2), B (2, 3, 5)and C(1, §, 5).
AB = (2-1)i+(3-1)j+ (5-2)k = i+ 2j+3k

AC =(1-1)i+(5="1)j+(5-2)k =4j+3k

i j’ k A A A A A A
Now. ABxAC=1 2 3 =l2 ili_r 3j+1 . k=-6i-3j+4k
4 0 3 |0 4
0 4 3
|A_B-;i(K(.“:lz\/(—ﬁ)z+(~3)2+42 =/36+9+16 =+/61

Area of AABC = %!mxml =%J6_1 square units.
(i1). Given vertices are, A(1, 2. 3), B(2, -1. 4) and C(4, 5, -1)
Now, AB = (2-1)i+(-1-2)j+(4-3)k

= AB=i-3j+k

again, AG = (4-2)i+ (5 +1)j+ (—1- 4)k

E.—zhs}-sﬁ
.;. & A
Now, ABxAC=f1 -3 1
6 —

— — -3 4 1. -3 2 & ° @
:>AB><AC=|6 _5[1—2 _5lj+6 6lk=91+?'1+12k 60 ,’\\F)
|ABx AC |= 92 + 72 +12% = /81+ 49+ 144 — /274 < (OCJ
AreaofMBCZ%lﬁxEI (&6 Q&

Y o R
3 274 Sq. Units.

(iii). 4(3,-1,2) ,B(1,-1,-3) and C(4,-3,1) ) \\\0 @fb
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~

i
S (BAC)=| 5 7|1 7}4“4 7‘+:;|‘4 5‘:0
-5 <4 |4 -3 |4 -5
i =% =4
Hence, 4, B and C area collinear.
(ii) Let A=(6i~7j-k),B=(2-3]+k), C=(4i-5})
= AB =Position vector of B — position vector of A4
=(2i-3j+k)-(6 -7j k) =(~4i +4j+2k)
— AC =Position vector of C — Position vector of 4
=(4i-5])- (67 -7]—k)=(-2i +27 +£)
Pk 4 2 4 2 4 4
o (4BxAC)=|-4 4 2|=i ’._}-l‘ +‘|‘ |
oo g 12W S22 0

=i (4-4}—j(-4+4)+k(-8+8)=0. Hence, 4. B and C arecollinear.

Show that the points 4,B.C with position vectors (3; L2574+ 4k"), (; +}+i;) and (—f+ 47— 2&:)
respectively are collinear.
Let A= (3?~2}+4.$),B =(F+_}+!€), C=( 74 4}’—212)
— AB = Position vector of B— position vector of A

:(f+}+ﬁ:)—(3f—2}'+41;) = (—2?+3j—3r';)
=> AC = Position vector of C - position vectorof A

=(- +4}‘—2£)—(3f % +4£') - (41? +6] —615)

-

i
=5 (A_B.x A_(;) =|-2
-4

]

4 4 6

3 3| -2 3| -2 3
+k
6 -6 -4 6

[ W 5 T SRS
| [T
N W

Il

o]

=il-18+18)~ j(~12+12) +k(-12+12)=0
Hence, proved that A, B and C are collinear.

Show that the points having position vectors a, 5, (35 -2b ) are collinear, whateverbe d,b.¢.

= AB= position vector of B —position vector of A= (~b —Ei) 60 ,‘\\()
= AC= position vector of C — position vector of A =(3&—21;)—& =(2[1—25) @ O

i b B K(O Q
= (4BxAC)=|-1 1 o0|=ad ; 0‘—5|_1 Al \(b

2 20

Hence, d, b and ¢ are collinear. ; O (b
N @
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CROSS, OR VECTOR, PRODUCT OF VECTORS (XII, R. S. AGGARWAL)

Show that the points having position vectors (—2& +3b +5E), (ii +2b + 36) and (7d—-¢) are
collinear, whatever be d, 5, c.
Sol. Let, A=(-2d+3b+5¢), B=(d+2b+3¢), C=(7d-¢)
= AB =Position vector of B — position vector of 4
=(a+26 +3¢)-(-2d+3b +5¢) = (3d—b -2¢)
= AC =Position vector of ' — position vector of 4
=(7d-¢)~(-2d+36+5C) =(9d-35 -6¢)

i b ¢ ]
= (4BxAC)=|3 -1 -2|=d| i-él e “‘I
e <5 - = 9 =§|

=a(6-6)—b(-18+18)+¢(-9+9)=0.
Hence, A, B and (" arecollinear.
23. Find a unit vector perpendicular to the plane ABC, where the points 4, B, C are (3,-1,2),
(1,—L=3) and (4,-3,1) respectively.
Sol. Let A =(3?.~j‘+2!;), B:(f—}'—3£), C‘:(4§—3}+l§)
= AB =Position vector of B— position vector of A4
= (7 - 7-3k)- (37 - j+2k) =(-2i <5k)
= AC =Position vectoror ' — position vector of 4
= (40 =37+ k)~ (37 —j+2k) =(i -2] )

- -

i ]k

. |* Jo -5| .2 -5

= (4Bx4C)=|-2 o -5|=i V..l S
1 25 ~1

X

3 o’
+k

1 =2

=7(0-10)~j(2+5)+k(4-0) =(-107 - 7] +4k)
= | ABx AC=|(-10)° +(=7)* +(4) =100+ 49+16 =165

(ExA_'C) ) (—10.3—?}+412)

[4Bxac| J165
24, lf&:(f—2j+3£) and 5:(.3—3!2) thenfind'éxl&l 60 ’\()
o

. Required unit vectoris =

Sol. Given:- a=i-2j+3k <

Ly 2R
Now: 28 =21-4}8k 6\'
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25.

Sol.

26.

Sol.
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ik
and, bx2a=1 -2 -3
1 0-3
L a3l*h S*h - & & & & a
=|0 -, 3‘1+1 §|k=6|-6;+2k:1bx2a|= 6% +62 +22 =76 =24/19

if|&|=2,|5|=5 andl&x5|=s, find a-b
Given- |al=2, |b|=5 and |axb|-8

.+ |axb|=8

—a||b|-sin6=8 = 2x5xsinB -8 = sun@:%

Now, cos6 =v1-sin?0

=cosf = ‘i—lg—:fcmse:g
25 5

Now, ;-E;=|;[|B|oosa :2x5x§ =6 Ans.

If]&lzz,__l;ﬁl:? and (5x5):(3§+2}'+6§), find the angle between a and h

Given:- |aj=2, |bl=7 & axb=3i+2j+6k
Let, 8 = Angle between a and b
Now, |;;<E;|= 32+ 22 46% =7

L+

Now, ngblﬂgllbl-sinﬁ ::i-’-’?=2->‘a7x:sin9=;>sin"6_%=>9=£6— Ans
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